Chapter 7 Accounting for Provisions, Contingencies and Post Balance Sheet Events

Answers to Exercises

Answer – Exercise 1

A liability is a present obligation of the entity arising from past events, the settlement of which is expected to result in an outflow from the entity of resources embodying economic benefits.

Accruals for electricity consumed are liabilities to pay for electricity consumed but have not been paid and invoiced. Although it is necessary to estimate the amount of accruals, the uncertainty is generally much less than for provisions and it is not difficult to estimate our consumption pattern based on the past record.

Answer – Exercise 2

Present obligation as a result of a past obligating event – The obligating event is the contamination, which gives rise to a constructive obligation because the conduct of the entity has created a valid expectation on the part of those affected by it that the entity will clean up contamination.

An outflow of resources embodying economic benefits in settlement – Probable.

Conclusion – A provision is recognised for the best estimate of the costs of the clean-up.
Answer – Exercise 3
The total provision required for the costs of the closure is determined as follows:

	
	$m
	$m

	Loss on the sale of net assets
	
	16.0

	Related costs
	
	

	Redundancy
	2.0
	

	Penalty
	3.0
	

	Professional
	1.5
	

	
	
	6.5

	
	
	22.5


The operating losses of $4.5 million in the period from 1 January 2008 until the date of closure cannot be provided for at the date the closure is announced, unless further information is available to prove that the losses arise from an onerous contract.

Answer – Exercise 4
The financial statements are authorised for issue on 18 March 2008 (date of board authorisation for issue).
Answer – Exercise 5
Items 1 and 3 are adjusting events because further evidence are provided regarding the conditions that existed at the end of the reporting period.

Items 2, 4 and 5 are non-adjusting events because those events are indicative of conditions that arose after the end of the reporting period.

Examination Style Questions
Answer 1

(a)

A liability is a present obligation of an entity arising from past events, the settlement of which is expected to result in an outflow of economic benefits (normally cash). Provisions are defined as liabilities of uncertain timing or amount, i.e. normally estimates. In essence provisions should be recognised if they meet the definition of a liability. Equally they should not be recognised if they do not meet the definition. A statement of financial position would not give a ‘fair representation’ if it did not include all of an entity’s liabilities (or if it did include, as liabilities, items that were not liabilities). These definitions benefit the reliability of financial statements by preventing profits from being ‘smoothed’ by making a provision to reduce profit in years when they are high and releasing those provisions to increase profit in years when they are low. It also means that the statement of financial position cannot avoid the immediate recognition of long-term liabilities (such as environmental provisions) on the basis that those liabilities have not matured.
(b)(i)
Future costs associated with the acquisition/construction and use of non-current assets, such as the environmental costs in this case, should be treated as a liability as soon as they become unavoidable. For Promoil this would be at the same time as the platform is acquired and brought into use. The provision is for the present value of the expected costs and this same amount is treated as part of the cost of the asset. The provision is ‘unwound’ by charging a finance cost to the income statement each year and increasing the provision by the finance cost. Annual depreciation of the asset effectively allocates the (discounted) environmental costs over the life of the asset.
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(b)(ii)

If there was no legal requirement to incur the environmental costs, then Promoil should not provide for them as they do not meet the definition of a liability. Thus the oil platform would be recorded at $30 million with $3 million depreciation and there would be no finance costs.
However, if Promoil has a published policy that it will voluntarily incur environmental cleanup costs of this type (or if this may be implied by its past practice), then this would be evidence of a ‘constructive’ obligation under HKAS 37 and the required treatment of the costs would be the same as in part (i) above.

Answer 2
(i)

This is an example of an adjusting event within HKAS 10 Events after the reporting period. This means that an impairment of trade receivables of $23,000 must be recognised (and charged to income). The increase in the receivable after the year end should be written off in the following year’s financial statements.
(ii)

Sales of the year-end inventory in the following accounting period may provide evidence that the inventory’s net realisable value has fallen below its cost. This appears to be the case for product W32 and is another example of an adjusting event. With a selling price of $5·40 and after paying a 15% commission, the net realisable value of W32 is $4·59 each. Assuming that the fall in selling price is not due to circumstances that occurred after the year end and that the selling price is typical of what the remainder of the product will sell for, inventory should be written down (via a charge to the income statement) by $16,920 ((6·00 – 4·59) x 12,000 units).
(iii)
Tentacle has correctly treated the outstanding litigation as a contingent liability. The settlement of a court case after the reporting period may confirm (or otherwise) the existence of an obligation at the year end and would be an example of an adjusting event. This would then require that either the disclosure note of the contingency is removed or the obligation should be provided for dependent on the outcome of the litigation. However, this is not quite the case in Tentacle’s example. The circumstances of the claim against Tentacle are different from those of the recently settled case. So this settlement does not appear to have any effect on the likelihood of Tentacle losing the case. What it does (potentially) affect is the estimated amount of the liability. HKAS 10 refers to this situation as an updating disclosure. The only required change to the financial statements would be to update the disclosure note on the contingent liability to reflect that the potential liability has increased from $500,000 to $750,000.
Answer 3
(a)

Provisions are liabilities of uncertain timing or amount. Because they are liabilities they must meet the recognition criteria for liabilities - that is there must be:

· A present obligation arising from past transactions or events

· The transfer of economic benefits to settle the obligation must be probable

· A reliable estimate can be made of the amount of the obligation

The obligation giving rise to a provision can be legal or constructive. A constructive obligation can arise when the actions or statements made by an entity create an expectation that they will meet certain obligations, even if there is no legal requirement for them to do so; for example they may have a well- known policy of replacing goods beyond the normal warranty period.

Provisions are recognised in full as soon as an entity is aware of them, but long term provisions are recognised at present value. As time goes by the discount unwinds, increasing the provision. The increase in the provision is charged to the income statement as a finance cost.

If an obligation depends upon a future event, then it is a contingent liability, not a provision. Also, if the amount of an obligation cannot be measured reliably, then it is a contingent liability. Contingent liabilities are not recognised in the financial statements, although they need to be disclosed unless the possibility of an outflow of economic benefits is remote.

(In the past the term provision has been used to describe the reduction in the carrying value of an asset; for example the provision for depreciation. This use of the word provision does not meet the criteria of HKAS 37, and so the term allowance is used instead; for example the allowance for receivables.)

(b)

The need for a standard

Although provisions have been a key area of financial reporting for many years, HKAS 37 was the first standard to address this issue. Before HKAS 37 there were no rules governing the
· Definition

· Recognition

· Measurement

· Use, and

· Presentation

of provisions.

HKAS 37 definition of a provision as a liability of uncertain timing or amount means that provisions must meet the recognition for liabilities. This means that provisions cannot be created to suit management needs. In the past provisions were often created and released in order to smooth profits, rather than to provide for a specific liability. These were sometimes called 'big bath provisions' because they could be used for any and every purpose.
A specific example of this was the creation of provisions for reorganisation or restructuring. The charge to set these provisions up could be explained away by management to their investors as one-off exceptional items, but the release of the provision in the future would boost profits. Under HKAS 37 provisions for restructuring can only be recognised if the restructuring has begun or if the restructuring has been announced publicly.

The measurement rules have standardised practice in an area where there were genuine differences of opinion. For example there are at least three ways in which the cost of cleaning up an industrial site after it is closed down (restoration costs) can be accounted for:
· ignore the costs until the site is abandoned,

· accrue the costs evenly over the productive life of the site, or

· provide for the costs in full immediately.

HKAS 37 states that these costs should be provided for in full immediately, but at their present value.
Under HKAS 37 provisions can only be used for the purpose that they were created for; if a provision is no longer needed it must be released. In the past provisions were sometimes created for one purpose and then used to cover the costs of another.

HKAS 37 includes detailed disclosure requirements, including the movement on provisions during the year and an explanation of what each provision has been created for. This ensures that the rules set out above have been complied with.

(c)
This provision can be reliably measured on the basis of past experience. Although Bodyline does not know which items will be returned or develop faults, it can make an estimate of the total value of returns and faults that there will probably be.

The question does not make it clear whether the 28 day refund is part of the sales contract (in which case it is a legal obligation) or whether it is just a well-known and established part of Bodyline's trading practices (in which case it is a constructive obligation). Either way, an obligation exists that needs to be provided for.

The provision itself can be reliably measured on the basis of past experience. Although Bodyline does not know which items will be returned or develop faults, it can make an estimate of the total value of returns and faults that there will probably be.

The returns provision is $52,850, calculated as follows:

· Of the 10% of sales that are returned under this policy, 70% are resold at the full price. Therefore only the profit element is provided against on these items.

· A further 30% are sold at half the normal sales price, so the provision required will be half of the sale proceeds.

[image: image2.emf]
The faulty goods provision is $57,600, calculated as follows:

· 20% of the goods returned will have been supplied by Header; Bodyline will suffer the loss in full on these items.

· Bodyline reclaims the cost of the other 80% returned. Only the profit element is provided for.
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(d)

Rockbuster

No obligation exists to replace the engine and so it is wrong to create a provision for its replacement. Rockbuster may decide to trade in the earthmover rather than replace the engine. Also, the $2.4m depreciation charge includes an element in respect of the engine, so to make a provision as well is double counting.

Instead HKAS 16 states that the earth-mover should be treated as an asset with two separate components (the engine and the rest) with different useful lives. The engine (cost $7.5m) will be depreciated on a machine hours basis over 5,000 hours, while the rest of the machine (cost $16.5m) will be depreciated over ten years.
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When the engine is replaced the cost and accumulated depreciation on the existing engine will be retired and the cost of the new engine will be capitalised and depreciated over its working life.

Answer 4
(a)

HKAS 37 defines a contingent liability as:

(i)
a possible obligation that arises from past events and whose existence is confirmed only by the occurrence or non-occurrence of one or more uncertain future events not wholly within the control of the entity; [2 marks] or

(ii)
a present obligation that arises from past events but is not recognized because it is not probable that an outflow of resources embodying economic benefits will be required to settle the obligation or the amount of the obligation cannot be measured with sufficient reliability. [2 marks]

HKAS 37 defines a contingent asset as:

(i)
a possible asset that arises from past events; and

(ii)
whose existence will be confirmed only by the occurrence or non-occurrence of one or more uncertain events not wholly within the control of the entity. [2 marks]



(Maximum: 5 marks)

(b)

A provision for the future costs for landscaping should be made by Sea Limited [1 mark] because the following conditions have been met by 31 December 2007:

(i)
Sea Limited has a present legal obligation to have the landscaping as a result of a past event of acquiring the coal mine and its related plant; [1.5 mark]

(ii)
it is probable that an outflow of resources embodying economic benefits will be required to settle the obligation because Environmental Legislation has been enforced; [1.5 mark]; and

(iii)
the amount of obligation is estimated by an expert and therefore, is reliable. [1.5 mark]

The amount recognized as a provision shall be the best estimate of the expenditure required to settle the present obligation at the balance sheet date. [1 mark] In accordance with HKAS 37, the following issues should be considered in determining the “best estimate”:

(i)
the risks and uncertainties that inevitably surround the events and circumstances; for example, effects of the mining activities on the land; [1.5 mark]

(ii)
the amount of provision shall be discounted to the present value where the effect of time value of money is material; [1.5 mark] and

(iii)
future events, for example, the changes in technology to landscape the land, that may affect the amount required to settle an obligation should be reflected in the provision. [1.5 mark]

In this case, the amount of $150,000 (already discounted to the present value), together with the unwinding of the discount of $12,000 should be the best estimate of the amount of provision of $162,000. [1.5 mark]

In accordance with HKAS 16, cost of an item of property, plant and equipment includes: its purchase price and any costs directly attributable to make it capable of operating in the manner intended by management; as well as the initial estimate of the costs of dismantling and removing the item and restoring the site as an obligation to the entity. [2 marks] Since Environmental Legislation was enforced, the estimated future costs of landscaping for $150,000 (discounted to the present value) falls within the definition of cost of property, plant and equipment and should be included in the carrying amount of property, plant and equipment.

[2 marks]

The accounting entries to record this transaction are:

	
	
	$
	$
	Marks

	Dr.
	Property, plant and equipment

($162,000 / (1 + 8%))
	150,000
	
	2

	
	Finance costs accrued
	12,000
	
	1

	Cr.
	Provision for landscaping
	
	162,000
	1




(Maximum: 20 marks)

Answer 5
Material Event (1)
(a)
Despite that there is no legal obligation to clean up the pollution, the company has publicized its green production policy. There is an expectation from third parties that the company will honour its green commitment to clean up the area, and as a result, there is a constructive obligation. Further, the amount to be incurred for the clean up has been estimated to be $20m by a consultant. Therefore a provision should be made. [3 marks]
(b)
Dr
Pollution costs
$20m


Cr

Provision for pollution clean up

$20m






[2 marks]

(c)
N/A

Material Event (2)

(a)
On the date when the details of the restructuring and redundancy package was communicated to the staff concerned, a constructive obligation was created as the company has to honour all the compensation details as made known. Since the event occurred before the year end date, a provision for the compensation payment has to be made. [3 marks]
(b)
Dr
Redundancy expenses
$5.5m


Cr

Provision for redundancy

$5.5m







[2 marks]

(c)
N/A

Material Event (3)

(a)
The burglary occurred after the year end. This is a material event occurring after the reporting period but before the accounts are authorized for issue, it is a non-adjusting event after the reporting period.

In view of the materiality of the loss, the company has to make a note to the accounts to disclose the event in its financial report.






[2 marks]
(b)
N/A

(c)
Event after the reporting period
After the year end date, a burglary took place resulting in the loss of inventory with an approximate value of $26.5m. The incident has been reported to the police. Around 50% of the loss can be covered by insurance. [2 marks]
Material Event (4)

(a)
Emerald Link Ltd was being sued for infringement of copyright after year end. This is a material event occurring after the reporting period but before the accounts are authorized for issue, it is a non-adjusting event after the reporting period.

In view of the materiality of the potential financial loss, the company has to make a note to the accounts to disclose the event in its financial report.





[3 marks]
(b)
N/A

(c)
Event after the balance sheet date
Subsequent to the year end date, the company was sued by an overseas jewellery design company for infringement of copyright and has claimed compensation of $40m. According to legal opinion, the company does not stand a good chance of defending the case successfully. [2 marks]
Material Event (5)

(a)
This is an adjusting event after the reporting period as the information from the lawyer gives further evidence regarding the recoverability of the outstanding debt at the statement of financial position date.

As the customer is in liquidation, there is a doubt of the recoverability of the debt owed to the company and full provision has to be made against the amount of $10m outstanding at year end date.

The other amount of $7.5m which represented the shipment after the year end date relates to the transaction of the following financial year and would have no effect to the current year’s financial statement. However, in view of the materiality of the amount, the company should make a note to accounts to disclose the incident.






[2 marks]
(b)
Dr
Bad debt expenses
$10m


Cr

Allowance for bad debt

$10m







[2 marks]

(c)
Event after the reporting period
Subsequent to the year end date, the company was informed by an overseas lawyer that one of its major customers in the USA has commenced liquidation procedures. The company has made a shipment of $7.5m to this customer after the year end date. There is doubt as to the recoverability of this receivable. Further, full allowance has been made against the debt owned by this customer at the year end date, for an amount of $10m.
[2 marks]
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